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Ideals for irreducible component#ﬂ)f Xpar

30 _ 8y 4 put 1)

* 2 irreducible components of dim¢e = 0, with total 31 representations

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter)
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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L I*=(u®® —8u®®+..-+u+1)

(i) Arc colorings
0
a2 = u
a7 =
ag =
a; =

asz =

M4 3012 — 4010 + 48 4208 — 20t + 1
wl® — 4y + 8ul? — 8utV + 448

—u' 4+ 3ul? — 400 4+ o8 + 208 — 2t + 1)

ag =

as = ult — 4u'? + 7ut0 — 6ud + 2ub — u?
—u® 4+ 6u? + - —3ud +u

a0 =\ u?® - TuP +-.. —2u +u
u?® —6u + -+ 3u’ —u

as= \ 2" 47 4+ B tu
u?® —6u® + -+ 3ud —u

ar= \ -2 47U 4 — Bty

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? + 32u?7 — 4u?5 — 124425 + 28u?* + 28423 — 96u?? —
400u2! 4 192120 4 300w — 23208 — 4417 4 14066 — 224415 + 12014 + 188w '3 —
84u'? — 28uMt + 40u'0 — 52u° + 1208 + 32u” — 241’ — 8u® + 8u* + 4u3 + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq WO -8+ tut1
C2 w4+ 16u* + -+ 3u+ 1
C3,Cy4,C8 u30_20u28+._._~_3u+1
Cy, C10
Cs w0 — 6u? + -+ 23u + 41
c7,C11 w0 =30 . 4+ 3Tu—11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce v — 16y - —3y+1
C2 Y 4y =Ty 41
C3,Cy4,C8 y30_40y29_~_..__3y+1
Cy, C10
Cs y*" — 16y*° + - - — 36527y + 1681
cr,c11 y30 +27y% + ... — 3129y + 121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.887519 4 0.4824321

—1.82016 + 4.257441

—10.93711 — 7.739761

u = —0.887519 — 0.4824321

—1.82016 — 4.257441

—10.93711 + 7.739761

u = 0.935013 + 0.5384601

—10.87340 — 5.279661

—12.05604 + 5.658231

u= 0.935013 — 0.5384601

—10.87340 + 5.279661

—12.05604 — 5.658231

u = —1.09884

—14.6811

—17.7740

u= 0.778482 + 0.4360981

1.00011 — 1.873641

—3.05909 + 5.261271

u= 0.778482 — 0.4360981

1.00011 + 1.873641

—3.05909 — 5.261271

uw= 0.113847 + 0.8397461

—15.0478 4- 5.34991

—12.97012 — 2.662951

uw=0.113847 — 0.8397461

—15.0478 — 5.34991

—12.97012 4 2.662951

u = —0.100894 4 0.7968511

—5.17949 — 3.973691

—12.30033 + 4.025031

u = —0.100894 — 0.7968511

—5.17949 + 3.973691

—12.30033 — 4.025031

u=0.523957 4 0.5968281

—9.71958 + 0.797681

—9.60193 + 0.222411

u= 0.523957 — 0.5968281

—9.71958 — 0.797681

—9.60193 — 0.222411

u = —1.175620 + 0.4338981

—4.54064 + 2.587601

—11.91074 4 0.314631

u = —1.175620 — 0.4338981

—4.54064 — 2.587601

—11.91074 — 0.314631

u= 1.178600+ 0.4729611

—4.25686 — 5.885821

—10.73071 4- 7.023381

u= 1.178600 —0.4729611

—4.25686 + 5.885821

—10.73071 — 7.023381

u = 1.209450 + 0.4030711

—9.06454 — 0.149281

—16.5343 — 0.44921

u=1.209450 — 0.4030711

—9.06454 + 0.149281

—16.5343 + 0.44921

u = 0.064904 4 0.7152911

—1.08394 + 1.472441

—7.45106 — 4.264471

u= 0.064904 — 0.7152911

—1.08394 — 1.472441

—7.45106 + 4.264471

u = —0.551842 4 0.4412121

—0.931280 — 0.302386.1

—8.66690 + 0.700641

u = —0.551842 — 0.4412121

—0.931280 + 0.302386.1

—8.66690 — 0.700641

u = —1.236340 + 0.3925861

—19.1575 — 1.12301

—17.1562 — 0.41961

u = —1.236340 — 0.3925861

—19.1575 4 1.12301

—17.1562 4 0.41961

u = —1.198880 + 0.4959381

—8.40726 + 8.705071

—15.2295 — 7.14541

u = —1.198880 — 0.4959381

—8.40726 — 8.705071

—15.2295 4 7.14541

uw=1.212990 4 0.5097721

—18.3208 — 10.26131

—15.9531 + 5.76961

u= 1.212990 — 0.5097721

—18.3208 4+ 10.26131

—15.9531 — 5.76961

u = —0.633476

—0.803448

—13.1110




(i) Arc colorings

w= (1)

a7 =

<
= (
e ()
= (1)
o ()
o ()
e ()
e (9
1
wu= ()
= ()
= (o)
(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

II. I%

(u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4
€6, C8, Co u—1
C10
Co,C5 u+1
C7,C11 u




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4, C5, Cg Y- 1
€8, C9, C10
C7,C1 )




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

uw = 1.00000 —4.93480 —18.0000




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1, Ce (u—1)(u® —8u®® 4 +u+1)
C2 (u+1)(u®® + 16u?° 4 -+ 3u+ 1)
€3, C4,C8 (u—1)(u® —20u® + - + 3u+1)
€9, C10
Cs (u+1)(u*® — 6u® + -+ 23u +41)
c7,C11 u(u30 —3u® 4. 4 37u— 11)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cg (y —1)(3%° — 1692 +--- =3y + 1)
2 (v =D —4y® +-- =Ty +1)
C3,C4,C8 (y_l)(y30_40y29+_3y+1)
€9, C10
Cs (y — )50 — 16y + - -- — 36527y + 1681)
cr,c11 y(y30 4 2792 + .- — 3129y + 121)
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